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Supplementary table S4. Ex vivo biodistribution of [131I]—2R515d and [""1]-control in mice with BT474/M1 xenografts (n = 3). Values are expressed as % IA/g, except for thyroid for which
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[

% IA was used. Radiation doses from 37 MBq of [ ""1]-2Rs15d were calculated using trapezoid integration of measured radionuclide activity in tissues of interest, and expressed in cGy.

[1311]-2Rs15d [131]]-control [1311]-2Rs15d
ctji;zz': 1h 3h 6h 24h 48h 72h 96h 120h 4h cGy /37 MBq
Mean * SD Mean * SD Mean * SD Mean * SD Mean * SD Mean * SD Mean * SD Mean * SD Mean * SD
Lungs 094 + 017 030 + 011 019 <+ 0.04 0.05 + 0.02 002 + 0.01 0.01 + 0.002 0.02 + 0.01 0.01 + 0.003| 045 + 0.37 26.66
Heart 043 + 0.07 015 + 0.02 0.08 + 0.004 0.02 + 0.001 0.01 + 0.003 0.01 + 0.001 0.01 + 0.002 0.004 + 0.0003| 0.09 + 0.01 11.50
Liver 105 + 018 039 + 012 024 + 0.09 004 + 0.01 0.05 + 0.003 0.01 + 0.002 0.02 + 0.01 0.01 + 0.003| 047 + 0.17 31.13
Kidneys 556.63 + 847 1250 =+ 273 715 £ 195 0.94 + 0.52 0.52 + 0.13 0.24 + 0.14 0.13 + 0.06 0.09 = 0.02 6.79 + 219 835.96
Stomach 094 + 039 071 + 076 012 + 0.06 0.01 + 0.01 0.01 + 0.004 0.01 + 0.002 0.01 + 0.01 0.004 + 0.001 0.14 + 0.08 24.94
Pancreas 0.18 + 0.04 0.05 =+ 0.01 0.02 =+ 0.01 0.01 + 0.002 0.003 + 0.001 0.001 + 0.001 0.002 + 0.001 0.001 = 0.001 003 + 0.01 3.75
Spleen 039 + 0.07 021 + 0.02 0.09 + 0.04 0.02 + 0.004 0.01 + 0.002 0.01 + 0.001 0.01 + 0.002 0.01 = 0.001 015 + 0.06 13.22
Muscle 062 + 015 024 + 015 0.08 =+ 0.01 0.01 + 0.01 0.004 + 0.002 0.002 + 0.001 0.002 + 0.002 0.003 + 0.001 006 + 0.01 11.37
Bone 1.00 + 0.08 053 + 030 028 =+ 020 0.04 + 0.01 002 + 0.01 002 + 0.01 002 + 0.01 0.01 0.01 024 + 0.09 32.24
S intestines 037 + 009 058 + 058 0.16 =+ 0.01 0.01 + 0.003 0.004 + 0.001 0.01 + 0.01 0.003 + 0.001 0.002 + 0.001 007 + 0.03 20.79
L intestines 030 + 012 036 + 034 010 =+ 0.02 0.01 + 0.01 0.004 + 0.002 0.01 + 0.004 0.02 + 0.03 0.002 = 0.001 010 =+ 0.01 15.79
Blood 083 + 002 019 + 0.06 0.07 =+ 0.01 0.02 + 0.002 0.01 + 0.003 0.01 + 0.002 0.01 + 0.001 0.01 + 0.0003| 0.06 + 0.01 14.72
Uterus 110 + 021 002 + 001 034 =+ 0.38 0.02 + 0.003 0.01 + 0.002 0.01 + 0.002 0.01 + 0.002 0.004 = 0.001 013 + 0.04 23.90
Thyroid* 0.01 + 0.002 0.001 + 0.001 0.001 + 0.0002 0.0001 + 0.0001 0.0001 + 0.0001 0.00001 + 0.0001 0.0001 =+ 0.0001 0.0001 + 0.0001 024 + 0.09 0.15
Tumor 2022 + 164 1777 + 1.87 716 + 1.18 5.10 + 1.90 1.16 + 0.16 0.40 + 0.05 0.14 + 0.01 0.11 # 0.03 0.14 + 0.06 1188.34




